Ostwaldcolours (0) Yy=100
o525 max (m) chromatic value, P60

X4=97,09Y,=99,99,7,~104,01 B,

M Ncity ( ; Xy=0,3224y,,=0,3321 o1 Y0
romaticity (X1, =]
i Nar%% glnd spectral range gtgzo_{zg'":zg'v:gg'd N 3
Rm 561_770 ¥, 520_770 0_H07L70.n"H0 Y TR0 A
o1 Gm475 573 G 380_561 ag = ao [x/y] 4L 3
J3Rm 380520 M, 573 475 bg = bao [2M)
o 850= 1, byo= -0,4 A
> 3 1 1 1 Lo
. n = P60 _40 ! ! 40
25700 ag,y=ay(Y/Y1g-1)
b, y=boy(Y/Y1g-1) 1
a,y=0,000,0,y=0,000 5 3
a5,4=0,000,by 4=0,000
CIE 1964 X10 Ostwaldcolours (0) Y\\=100 26
0,0 + g max (m) chromatic value, P60 T-8
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value Aq 10 Bg10)
CE221-1A_1 CE221-2A_1
Xu=97,09Y,~99,99.2,~104,01 B, X4=97,09Y,=99,99.7,~104.01 B,
Xy=0,3224y,,=0,3321 X 01 X=0,3224y,,=0,3321 T 40
Ar=(ar~[ag n+ay yt+ag al) Y 73 Ax=(ay[ag n+ay, y*ap al) Y
By=(1-[by n+by y+by al) Y 4 B;=(b—[by 02 y+02 Al) Y
ag = a0 [(x-0,179y] 4 3 2y = a0 [(x=0,17D/y] 91 T
by =byo [ZA =bs0 [(Mpx+bp1)/Y] 73
ax=1, b= 0,4 A a0=1,byo=-04 { fs \O\ﬁ A
my1=1,000,b5;=0,171 ) ) 4 Mp1=-0,157,bp1=0,385 ) ) 2
n = P60 40 ' ' 40 n = P60 -40 \n\‘\ ' 40
ay y=apy(Y/Y1g-1) ap y=apy(Y/Y1g-1) 56
by y=boy(Y/Y1g~1) 1 b2 v=boy(Y/Y1g-1) 260
a,y=0,000,0,y=0,000 5 2 apy=0,000,5,,=0,000
ay o=0,000,b; x=0,000 ap,4=0,000,b, 5=0,000
Ostwaldcolours (0) Y\y=100 26 Ostwaldcolours (0) Y\\=100
max (m) chromatic value, P60 8 T-40 max (m) chromatic value, P60 T-40
chromatic value A1 10, B1.10 chromatic value A 10, Bo10
CE221-3A_1 CE221-4A_1
Xu=97,09Y,~99,99.2,~104,01 B, X4=97,09Y,=99,99,7,~104,01 B,
Xy=0,3224y,,=0,3321 X0 Xw=0,3224y,,=0,3321 E
Ag=(az-[ag ytag y+agal) Y As=(ag-[ag ntas,y+asal) Y
B3=(b3-[b3 b3 y+bs ) Y o1 73 B=(04-[b4 b y+Dg ) Y
ag=ay[(x-0,179/y] < g a4 =20 [(x-0,1791] + 01
b3=byo [(Mp1x+bp1)/y] 4 b=, [(Mpyx-+bp1)/y] 73
80= 1, byo=-0,4 A a=1, by=-04 /OW“O\C\A’S A
Mp1=—1,344 05,=0,781 \ \ 3 Mpy=-0,157,bp1=0,385 \ \ N
n = P60 —40 ' ; 40 n = P60 _40 ' ' 40
ag y=ay(Y/Y1g-1) 3 ay y=agy(Y/Y1g-1) 5!
b3 y=boy(Y/Y1g-1) 1 by y=boy(Y/Y1g-1) 26T
a,y=0,000,0,y=0,000 5 ay=0,000,b,y=0,000
ag 5=0,000,b3 x=0,000 2% o ay,4=0,000,b, ,=0,000
Ostwaldcolours (o) Yy=100 Ostwaldcolours (0) Yy,=100
max (m) chromatic value, P60 T-40 max (m) chromatic value, P60 T-40
chromatic value Az10, B310 chromatic value A410, B410
CE221-5A_1 CE221-6A_1
Xu=97,09Y,~99,99.2,~104,01 B, Xu=97,09Y,=99,99.7,~104,01 B,
Xy=0,3224y,,=0,3321 X0 X=0,3224y,,=0,3321 240
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y q
Bs=(Ds[Ds,7+Ds, v +s a]) Y o1 B=(05~[bg,1*be +bs ) Y LT
a5=az,[(0,86x-0,71y-0,026)y] = 73 ag = 350 [X/Y] AL &
bs=h,,[(0,1%+0,38/-0,24 43 bs=byq [(Mp1X+bp1)/y] A
apy = 1,00,b, = 1,00 A 850=1, byg= -0,4 A
\p,G.v,R=475,503,574,494% E nm ) 5 ) ) ) 6
n = P60 —40 ' ; 40 n = P60 _40 ' ' 40
a v=apy(Y/Y1g-1) ag y=apy(Y/Y1g~1) 3
bs v =by(Y/Y1g-1) g | Bg,y=boy(Y/Y1g-1) 1
a,y=0,000,5,,=0,000 26 a,y=0,000,0,y=0,000 &g
a5 4=0,000,b5 5=0,000 8 a5,4=0,000,b5 4=0,000 2% 8
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, P60 T-40 max (m) chromatic value, P60 T-40

chromatic value (As 1. Bs 10

chromatic value (Ag 10. Bg 10

CE221-7A_1

CE221-8A_1




